


z

02X x

B!

HAOXX

Tl

@ Hrca=xo



jins
™

1

O YAlEFAA 2e

= T
- L
O~ 17" "~"7"77 TTUA
H
O H1mBeL @ HuLrBeAC
@ H=z=ou ® WouiAo



op

0,5)2,5

@ 25+5 ® 250+5

® 25+5

® 250+0.5

@ 25+50



24 0.871= WEEE vt=A Yehd A2 ol AAY 7

D 8.71% @ 0.871% ® 0.0871%
@ 87.1% ® 8.701 %






10 [ ©

<t |




o dJ
o 2] HieAle shAlL.

8.

® 2

=

— <t

O 2



@ 7+14

15
7

14
15

@ 147



10. Tt % 16.036 = 7.6 T H-o] Tt

D 160.36 ~ 76
® 1603.6 ~ 760

® 0.16036 + 0.076

@ 1.6036 +0.76

@ 1603.6 ~ 7.6



11. 7296 + 2.7 ¥} Fro] Z-2 Al ol= AYU7L?

@® 72.96 + 27 @ 729.6 + 27 ® 7296 + 270

@ 7.296 + 27 ® 72.96 +0.27



D 4:5 @ 4°] 59 tigt H]
® 495 @ 40 tigt 59] H]
® 50 gt 42 H]



2 7o

o ulo] gt

il
il
__01_

_ZE
=

T

]

__01_

dAfell o

13.

ol
G5

E_IL
o

— [

— | <t

— |



14. the =Ho4 AT HEO| HolZ T,

O 72cm? @ T76cm? @ 80cm?

@ 86cm? ® 92cm?



15. o= Asude s B, 25349 2HolE F5HA L.

’

7cm

6cm

I |
: | 9cm
I |

@ 416 cm? @ 358 cm? ® 318cm?

@ 296 cm? ® 252 cm?



